Efficiency vs P,

0.02
o
9.018F
> -
&.016F
(]

D.014F

0] r .
0.012F % :
Y7 200 LI S S S—

0.008f - * ------------ Feeeeeeeeen e
o.ooef—# ------- + ------------ S A—
0.004f :

0.002_—----------§ ------------ S S

1.0

Ratio

e
b
T

107 1 10 prT (Ge\})o3

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch3

=0.05
2]
0.045
2
$0.04
(8]
£.035
(5]

0.03
0.025

0.02
0.015

0.01
0.005f - et

+Q
1.2

TTTT
—_—

.....

Ratio

1.

P

iy

PO0) LS L LN LA ]

Efficiency vs ¢

o0.02




	Contents
	Page 1


